Pagina 1

GPT0000000

CARAT

REVISIE: 3-6-2022



CARAT

GPT0000000

Pagina 2

Nr. |Omschrijving Artikelnummer |Nr. |Omschrijving Artikelnummer
1 ZUTAFEL GELAST XGZC04022461
2 POOT GELAST XGZC04020959
3 RUBBER VOET STEUNSCHROEF D50-M10*80 [XGZC04022470
4 ZESKANTBOUT M8X45 XGZC02010047
5 SCHROEF M8 XGZC€02020010
6 STERKNOP M8x16 XGZC03010058
7 PLAAT XGZC04021837
8 SLUITRING XGZC02030020
9 VEERRING XGZC€02030019
10 ZESKANTBOUT-M6X12 XGZC02010184
1 STEUNPLAAT XGZC04022462
12 ZESKANTSCHROEF M8X16 XGZC02010042
13 VEERRING XGZC02030006
14 RUBBER PLAAT XGZC03020213
15 NYLON DRUKPLAAT XGZC03010046

REVISIE: 3-6-2022



	Blad1

